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T WG 17 100 7F & v=w wyr & qnr aw e o o & o @ 0F

Hﬁ?'mmﬁwwﬁm#mm viz av fafeaa ¥ e
50 797 &7 Fov &

Question Nos. 1 to 100 ha
You have to mark your s

GUE - 1 / SECTION - A
TS 9w / Objective Type Questions

50x1 =50

ve four options, out of which only one is correct.
elected option, on the OMR-Sheet. Answer any

50 questions. 50 x1=250
1 W S A g s g feh 2 o
(A)  Himed (B) ®rifwA
(C) ¥ A qw
Who wrote the book ‘Social Change’ ?
(A)  Ogburn (B) Sorokin
(C) Spencer (D) Max Weber
2. %A fames 1 yqE g w=n 2 o
() e (B) W
LICIEC (D) _ TG -
Which is the main source of advertisement at present ?
(A) Radio (B) Internet
(C) Maobile (D)  Public contact
3. =18 wn swfas e & starfs anm 2 >
LYRE B w
(C) At (D) FAefeal
Which of the following is the formal means of social contro] ?
(A) Custom (B) Law
(C) Folkways (D}  Mores
4,  myfade F1 Fm qfom R 2
(A) T4 T F I (B) Heavfiem
jer  Femd D) ¥ | of
“What is the result of modernization ?
(A) Emergence of new classes
(B) Industrialization
(C}) Unemployment
(D)  All of these _
"[24/A/X11-5030-129740) Page 3/ 24
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,!l fr % @ 3w s wiephien e A aiads o areh sfn A o

(A)  EEHfaR (B)  3ferfieRtor
() i (D) e
Which one of the following is not a process to bring about change

in Indian cultural structure ?

(A)  Sanskritization (B) Industrialization
(C) Westernization (D) Secularization
6. Y@ ¥ F HEH BIE HTHEAF TE B 7
() g JL AL
(© (D) s
Which is the smallest minority group in India ?
(A)  Muslim (B) Buddhist ’
(C) Jain (D). Christian
7. wra d fe 3 @ 9 s i @ 2
(A}, et B)
g .(®)
Which one of the following is not a scheduled caste in India ?
(A) Washerman (B)..Barber
(C) Dusadh (B) Carpenter
8. Hfem faar & fFm oA E ?
A & By @
€ =r ' (D) vi"
There are how many types of Muslim marriage ?
(A) Two . (B} Three
(C) Four (D) Five
9. PEAIsR-waffamadid?
(A) WIHE (B) el
(C) &% Hfywrdt (D) FTEW
Which among the following is not an achieved status ?
(A) Professor (B) Collector
(C) Bank officer (D) Brahmin
10. form a4 aresm s wfg Ay a1 7 >
(A) 1987 (B) 1991
“(C) 1948 : 1952 .
In which year was a National Policy on child labour made ?
(A) 1987 (B) 1991
~ (C) 1948 (D) 1952 3
24/A/XII-5030-(39/40) | Page 4 / 24
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14.

15.

325
mﬁﬁnﬁﬁaﬂq-mmm@mt? | |
A Fme B) iR
C)  Hamr (D) WHERA
Which marriage among Muslim is temporary in nature ?

(A)  Nikah (B)  Phasid
(€} Mutah (D)  Mubarat
HEEA Ty fufam few 9 gife 73T ?
(A 1955 1976
(C) 1988 (D) 1995
In which year was Untouchability Offence Act passed ?
(A) 1955 (B) 1976
(C) 1988 (D) 1995
WA wferat § amraror fag F01 ey smar 2 -
(A) Tt & wwm (B) % smmvawarat & wror
(C) &3 F *ru D) e emmfe fRafy % wroy
Due to which reason is reservation for scheduled caste provided ?
(A) Due to poverty (B) Due to economic necessities
(C) Due to population (D)  Due to low ritual position
P 3 & R el o i ot sl i S ) @ arfere 2 o
ay  ugafy (B)  IIHad Ffa g
(C) <I9S (D) &+ vfmese

Who among the following is authorized to declare a caste as
scheduled caste ?

(A)  President (B)  Scheduled Caste Commissioner
(C) Governor (D) Union Ministry
ﬁqﬁﬁaﬂq—ﬂmmﬁm%qﬂﬁq%mmgp

(A) s (B)

(C) e APYT w a wt

Which of the following factors is responsible for chan
system ?

(A)  Industrialization (B)  Globalization

(C) Urbanization (D) All of these

ge in caste

24 /A /X11-5030-(39/40
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ﬁmﬁﬁ%—ﬁﬁmﬁmm%mmwm%m??

l6.
(A) =T (B) URHEH
oy wd (D) sfam
Who among the following has propounded the conflict theory of
social stratification ? bsebresult.in
(A) Weber (B) Parsons
(C) Marx (D) Davis
17. foraa aegpfamo i yanfim swmsieo i gfiwa w8 2
(A) s B) U €. @
(c) . 3fam (D) . wE. §
Who has called Sanskritization as anticipatory Socialization ?
(A) Yogendra Singh (B) S.C. Dube
(C) K. Davis (D) C. H. Cooley
18. forw ad wag & Q1 wel § A7 aaw w7 w gam 2
(a) 2018 ” 1By 2017
(C) 2019 (D) 2020
In which year was the law of Triple Talak’ passed from both the
houses of parliament ?
(A) 2018 (B) 2017
(C) 2019 (D) 2020
19. ‘wmiiye fFaan’ v &1 gedwye A e aurest A e 2
(A) ured (B) 1w
€ F= Py AT
Which sociologist used the term ‘social control’ for the first time ?
(A) Marx (B) Ross
(C} Comte (D) Maclver
20. W TuT & fewm B e wE # fonfia e s R 0
B B)
(C) =W (D) uT=
History of Indian society is divided into how many periods ?
(A) Two (B) Three
(C) Four (D)  Five
24 /A/X11-5030-@39/40 Page 6 / 24
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21. feg orwr 4 fooed ssm A € 2

() =
Q o 7
There are how many Ashrams in Hindu society ?
(A) Four (B) Five
(C) Three (D) Two
22. @ =4 sl g wfdt w1 e gan w2
(A) 1956 (B) 1958

/LCT” 1977 (D) 1979

In which yecar was Ashok Mehta Committee constituted ?
(A) 1956 (B) 1958
(C) 1977 (D) 1979
03, qEEHHE § Rare frer % frat gww § 2
woa @B =w

(c) 44 (D)
There are how many types of divorce among the Muslims ?
(A) Two (B) Four ’
(C) Five (D) Six
24. 1932H e s g da qa H e 6% g o e 2
| Wire R (B) - ST
‘o) e i (D) Ao g

Who had established All India Harijan Sevak Sangh in 1932 ?
(A) Bhim Rao Ambedkar (B) Kanshi Ram
(C) Mahatma Gandhi (D) Jyotiba Phule

bs  are faaTe friy sftfEm ged vedt F9 9@ gan ?

Ay 1850 (B) 1895

(C) 1925 _(Dy 1929
In which year was the Child Marriage Restraint Act first enacted ?
(A) 1850 (B) 1895
(C) 1925 (D) 1929
26. Wy wifd & srameon frer sfaarfea faar 2 2
(A) A T (B) uwd. .
(C]* T 3. gEw (D) W @.
"Who has propounded the concept of dominant caste ?
(A) R. Indra _ (B) S. C. Dube
(C) A.R. Desai (D) M. N. Srinivas
24 /A [/ X11-5030-139/40) Page 7 / 24
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27. =} # el 7§ 2

(A) TR Fh qu]/ AR
(©) . ww. gfd by =
Who among thé following is not a sociologist ?
(A)  Auguste Comte (B) Maclver
(C) G.S. Ghurye (D) Darwin
28. %UwHA Fr § @ frd w2 2
EIGE L (B) d&R{
C) awgf (D)  wenwA
FERA law’ is related with which of the following ?
(A)  Child labour (B) Trafficking
(C)  Prostitution (D)  Black money
29. f= 43 Fh-w1 9ol yaem W s A 2 0
(A) SR }lﬁf gt
(C) dw D) FETE
Which among the following is not a'part of Varna system ?
(A) Brahmin (B} Kshatriya
(C) Vaishya . (D) Kushwaha

30. T I U9d § HeEl Sl Fa GEr 7 Adt & 2

LA B) <@

O & (D) ey
‘What is the minimum number of members in a Gram Panchayat ?
(A) Eight "(B) Ten
(C) Twelve (D) Fourteen
31. a1 %2R wg # 39908 @ 9@ qqg 3 fnfe fem 2 -
(A) APEER @) M
ef "R D) T
Who among the following has divided group into In-group an
Out-group ?
(A) Maclver (B) Green
(C) Sumner (D)  Cooley
32. T HIR & I8N guE frg ey @ qen a9l @ 2
(A) HRIITE (B) WIS HEEwTS
(C) e fagm (D) L
24 /A/X1I-5030-(39/40) | Page 8 / 2
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Aj::cc?rd.:ng o Auguste Comte sociology is closer to which
discipline ?
A) Anthropology (B)  Social Anthropology
(C) _Biology . (D) Physics
33. SRTHIH I % w9 wiw ¥ e #2992
(A) T XVI B) & XIV
C) u=ad (D] W
Who was the King of France during French Revolution ?
(A} Louis XVI | (B) Louis XIV
(C) _ Edward (D) Czar
34, F= 4 @ 99 wwowE % avaaerE T @ a2 # 2
(A) 3T Wi (B @S
) w2 (D) & -
' Who among the following is associated with the synthetic school of
" sociology ?
(A) Auguste Comte (B) Emile Durkheim
(C) Pareto (D) Spencer
35. R % R & deaw & g § #19 fwa g98 vg o @ 2
(A) Shafasms (B} Tiftra
ey wHETmS (D)
Which of the following “subjects comes first in the Comte's
hierarchical principle of sciences ?
(A) Biology (B) Mathematics
(C) Sociology (D) Physics
36. weET wur i gea favwar feas fafma wamafka 2 2
(A) ¥ (B) ¥
Q) T HA N
Which' of the following flundamental features of Jajmani system is
based on exchange ?
(A) Documents (B) Land
(C) Goods and services (D) Money
37. fog af yada Pwrerm Y ware i ot 2
Ay 1957 (B) 2009
| 2014 (D) 2019
In which year was Enforcement Directorate established ?
(A) 1957 . (B) 2009
(C) 2014 (D) 2019 .
24 /A /XII-5030-(39/40) Page 9 / 24
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38. fmad forgl ol &1 ayrowme’ w1 g R @ 2
(A) v (B) AT
) | 4By g .
Who among the following has given the theory of ‘Sociology of
Religions’ ?
(A)  Marx (B) Tylor
(C) Weber (D) Durkheim
39. HH-§ uH Wyl Araen A€ 8 2
(A) gfa-g=h Bf ST
€ far-m (D) vr-wg
Which one is not a primary kin ?
(A} Husband-Wife (B) Uncle
(C) Father-Son (D)  Brother-Sister
40. fm=# 3 a1 sffe vfeufe #1 & sqEw @ »
(A) g /131 AL 72
(C) s TEw D) I
Which one of the following is the example of achievement status ?
(A) Girl (B) Dector
(C) Brahmin (D). ~Boy
41. fagr vemadt o9 wfufaw, 1993 #.om vemm & o frad wrdt @ @@
fRrmr g ?
20 (B) 25
){‘g)/ 28 (D) 30
‘How many functions of Gram Panchayat have been narrated in
Bihar Panchayati Raj Act, 1993 ?
(A) 20 (B) 25
(C) 28 (D) 30
42, ‘Tgm Se wen Ao few gEElt 3 iy R o
(a) e Fm (B) W WER
(C) St um wrs (D) Ty fsm
Which Chief Minister started the ‘Bihar Berojgari Bhatta Yojana' ?
(A)  Nitish Kumar (B) Lalu Prasad
(C)  Jitan Ram Manjhi (D)  Jagannath Mishra
43. i & WA w7 g e s 2
(&) TR (B) %
(C) ¥ aw (D) W
24/A/XI1-5030-139/40) Page 10 / 24
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Who propounded Animism theory of religion ?

(A)  Tylor (B) Frazer
(C) Max Weber (D) Durkheim
44, m?mmw@mmmﬁmm
El R
A) 265 By 1154
(C) 273 pf 5T

Which day is observed as International Day against Drug Abuse
and lllicit Trafficking ?

(A)  26th June (B) 11th June
(C) 27th June (D) Sth June
45. fowaa war, i v e ogfa @7 2
o (B) W
¢ w (D)
Who said, “Urbanism is a way of life” ?
(A) Wirth (B) Bergel
(C) Ross (D), ~“Ghurye
46. ﬁmmﬁwﬁmﬁ{%mﬁu;ﬁﬁwaﬂwma
(A) T By o
(C) Jadres - (D) ®fEE]
Who has given racial interpretation of origin of caste system ?
(A) Morgan (B) Risley
(C) Nesfield (D) Sachchidanand
47, aaﬁawmmﬂﬁmmm%ﬂ
€ dafews e [D] qriETfie faaed

Which among the following cannot be said to be the effect of

alcoholism ?

(A) Decline of health

(B) Decrease in crime
(C) Personal disorganization

ilial di gamzat.lo
48. gr artiF;;ltz: ;3; 1 2 e T & e T ¥ 2

) 2018 (B) 2019
; & 2020 (D) 2021
. T TA IWIT &N AN 120 /401 | Page | 1/24
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49.

50.

Sl

52.

53.

frm ad wd fren fvam @y fea mn 2

(A) 1992 - (B) 1993
(C) 1994 /(p)” 1995
In which year was Sarva Shiksha Abhiyan launched ?
(A) 1992 (B) 1993
(C) 1994 (D) 1995
depfaeh A srauren fe 3 @ feed afie w9 8 g @ 2
() He R (B i wR
(0 fawR (D) TS TE
The concept of Sanskritization is closely related to which of the
following ?
(A)  Reference group (B)  Primary group
(C) Interest group (D) Tertiary group
WTHTa grarfas foas wRw g 2
(A) Jfee @ B) i §
(CyY T | (D) &4 ®
Indian social thought begins with
(A) Upanishad (B) Gita
(C) Ramayana (D) Vedas
a1 W e e gafRmd e
(A) gl (B g sty
(€) fod s (D) ¥TEm
With whom 1s Tana Bhagat movement associated ?
(A) Scheduled castes (B) Scheduled tribes
(C) Backward castes (D) Brahmins
9 & FrE F e T O & w9 30 g
A) 174 58 B). 184 gl
€ 19 wd D) 21 &
When did sociology emerge as a separate social science in Europe ?
(A)  17th century (B)  18th century
(C)  19th century (D) 2lst century

24 /A/XI1-5030-(39/40) Page 12 / 24
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54. WU %1 Y@ YR HT B ?
Ay ETHRTRS wiE (B)  atrenfyvira
(C) ' &H WE (D) MY TEY
What is the main basis of community ?
(A) Community sentiment (B) Self-dependence
(C) We feeling (D) Indirect relation
55. o Ao witada @ g dfewfres iferare w1 a2 2
(A) T B) ®A
(C) W& (D) ®nfEa
Whose theory of social change is called historical materialism ?
(A) Marx (B) Pareto
(C) Merton (D) Sorokin
56. Aftay Wil w1 ey forg Al @ 2
(4 ) g
(C) wwme “D)  IEHH
Agnipath recruitment is related with which job 2
(A) Military - (B)  Police
(C) Home guard (D) &EXCise
s7. P # A frg ged B wELSe B 3 o 2
_(A) SN FH B) Rz =iy
() gfera wEren (D) & du &
Jyotirao Phule had established which of the following
organisations ?
(A) Satya Shodhak Samaj (B) Pichhra Varga Sangh
(C) Dalit Mahasabha (D) Harijan Sevak Sangh
5. fem a¥ areet tw A e A ot >
(A) 1918 By, 19l
(€ 1917 BT 1915
In which year was Atal Pension Scheme launched ?
(A) 1918 By 1916
() 1917 D) 1915
59. greTA TE fFE =req 8 grafia € 2
(A) :nim T<d Ay fa
(C) Fadeand (D) fred wfa
24 /A /XII-5030-(39/40 Page 13 / 24
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Sundarlal Bahuguna is associated with which movement ?

(A) Narmada Bachao (B) Chipko
(C) Naxalite (Dy Backward caste
60. Feafafgadd s Fyq@aa s 8 ?
(A)  FTEE . TN
AC) | (D) ¥ &
Which one of the following is the main element of state ?
(A) Population (B} Government
(C)  Authority (D)  All of these
61, POt dsamfys dfad s e fagma R E 2
(A) ERifea (B) BEERH
(C) umE (D) W
Who among the following is associated with the cyclical theory of
social change ?
(A) Sorokin (B) Hobhouse
(C) Parsons (D) . “Merton
62. 3 d 4 w1 afgen 3m & forg Redar 7€ € »
Ay it e (B) @t gare
(C) T THIEA A (D) ¥R =% famaTR
Who among the following 1s not responsible for upliftment of
women ?
(A) Swami Namdev (B) Swami Dayanand
(C) Raja Rammohan Roy (D) Ishwar Chandra Vidyasagar
63. 3 d #9 agiea Fifagi & fau g sfirsafs 748 2 2
a]  raEICHE ai (B)  =Tadt sfaat
©) o (D) AR Arfoat
‘Which of the following is not an expression used for scheduled
castes ?
(A) Depressed classes (B) Exterior casteé
(C) Untouchables (D) Interior castes
64. @b awr 3 U= faum @Al § P wfave @R smyfae wfet & R
I & 2
(A) 75% (B) 14%
€]  15% (BT 20% B
24 /A /XI11-5030-(39/40) Page 14 ; 24
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What is the percentage of the total seats reserved in the Lok Sabha
and State Vidhan Sabhas for the scheduled castes ?

(A) 7-5% (B) 14%

(C) 15% (D) 20%

65. T e % amEn faEw, 7w Ry ik Jifsm § st Heam e
F1 TG B P
A) D64 _AB] FTRR-164
(C) HI=8%-28 (D) IFR-167
According to which Article, is there a provision for Tribal Welfare
Ministry in Bihar, Madhya Pradesh and Odisha ?
(A) Aricle-64 (B) Article-164
(C) Article-28 | (D) Article-167
66. = @ F1 we F Hrata fuga & fau w2
(a)  dfes (B) WeIEETg
(D) T HwTE
Which of the following is the third stage of Comte's law of three
stages ?
(A) Metaphysical - (B)  Positivism
(C)  Theological (D).~ Epistemology
67. = # @ | Rty wESESt A8 @ 2
(A) - 3T %rEl (B) . . g
(C) I F. gEA 4B] W
Who among the following is not an Indian sociologist ?
(A) Andre Beteille (B) S.C.Dube
(C) R. K. Mukherjee (D) Merton
68. ‘frgwatt aie wear w%mmﬂﬂv
(A) =& (B) AE
(€ A=A (D) AT EE
Who is the author of the book Discovery of India’ ?
(A) Plato (B) Aristotle
(C) Max Weber (D) Jawaharlal Nehru
69. T frw Yeadh & wAn ¥ ? N
(A) W EEY () wmfE Fuy
(C) IqEHR (D)
Society symbolises the network of
(A) Human relationship (B) Social relationship
(C) Orientation (D) Inter-connection
24 /A /XII-5030-(39/40) Page 15 / 24
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70. oY W g2 WO ¥ 3MUR R feER grfie aieda i fawfis e 2

(A) W Q. M (B) T Efhes
(C) va. . @ (D) B
Who has analyzed social change on the basis of little and great
tradition ?
(A) M. N. Srinivas (B) Robert Redficld
(C) S.C.Dube (D) Hetukar Jha
71. e Aed % AR a1t h wgEa ik w2
(A) IR W (B) whm =
[CY” JIdIGHA % YA W (D) JINTEHAT & FEY W
According to Kar! Marx, class membership depends upon
(A) Power (B) Prestige

(C) Mode of productivity (D) Productivity relations |

72. Frfa wlreto & oqaer few w amnia € ?

() g (B) =gt
ey dvriym (D)
Class stratification system is based on'which of the following ?
(A) Punarjanma (B) «..Chaturvarna
(C) Varnashram (D)  Gotra
73. fra § 3 ¥ fidew-$ wey H Wil & wliwor & 98 ?
a) i (B) wfa
(€ W= (D) ¥

Which one of the following represents a form of differentiation and
not stratification ?

(A) Class (B) Caste
(C) Gender (D) Sex
74. fidsm T H @ Ao di 2 2
(A)  Y-H (B) S
(C) WK (D) TeHifos SEe
Which one of the following is not the most important characteristic
of state ?
(A) Territory - (B} Population
(C) Government (D) Political system

[ 24/A/XI11-5030-39/40) | Page 16 / 24
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(a) wa. 9t FAR B) Uw #. @
) . . g (D) . w, qfmR
Who is the author of the book History of Caste in India’?
(A) S. V. Ketkar (B) S.C.Dube
(C) G.S. Ghurye (D) K. M. Panikkar
ETeW i} T S0 ATET H HEY WA & fhE W R IS R 2
(A) Y TeH B) faEn
() werg 1 T
Mahatma Gandhi's Dandi March is related with which state of
India ? |
(A) Andhra Pradesh (B) Bihar
(C) Maharashtra (D)  Gujarat
77. fa ¥ S99 FEUT & IETE TE 8 ?
(A) 9RER (B faam
o) # By firz swectt
ﬂ Which among the following is not an‘example of institution ?
(A) Family (B} Marriage
(C) Law (D) Peer group
78. aul oqaEyy &) YOI B €3 ?
(A) ek e (B) ®gAT TN
© Y F (D) WeEHAE I
-thn was Varna system started ?
(A) Vedic périod (B) Harappan period
(C) Pre-Vedic period (D) Medieval period
79. ﬁnﬁ‘ﬂ%ﬂaﬁmﬁw%mm% ?
(A) W B) wedfaat
(o) of AD) S
Which of the following is strictly followed ?
(A) Custom (B) Folkways
(C) Mores (D)  Festival
24 /A [ X11-5030-(39/40) Page 17 / 24
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81

82.

83.

84.

(325}

fadasng@EIER?

(A)  gESiEr B) ffeaa

g€y mas (D) st

Which of the following is not a youth house ?

{A) Dhumkuriya (B) Gitiora

(C) Gotul (D) Bhotia

AT % I e Hie R 2w % Fard 4 2

(A) T By %

(C) SHH /}I;)f amfra

Father of sociology Auguste Comte belonged to which country ?

(A) Germany (B) France

(C) Japan (D) Amenca

et T W IufAvETe 1 SH WE ¢@l T ?

(A)  TER THar (B) Yt arefeaen w1 fawm
(C) TR = I B wa e

Which type of impact of colorialism was seendn Indian society ?
(A) National unity

(B) Development of capitalistic economy

(C) Emergence of new classes

(D)  All of these

fre § @ #9 ydig @i i fasrwar 78 2 2

(A)  ud Y FUEA (B) HUGA ° fazam

(C) e wd e | favarm (D) SAfRad

Which among the following is not the characteristic of Indian
culture ?

(A) Importance of religion

(B) Belief in Karmaphal

(C)  Belief in soul and rebirth

(D) Individualism
ﬁﬁﬁﬂ%%ﬂﬁmﬁwﬁﬂéﬂat{émﬁnﬁaﬁm%?

(A) 29 faam (B) ¥ faame

(cy e faare (D) wIN e

In which form of Hindu marriage i1s a pair of ox and cow
demanded ?

(A) Daiva Vivaha " (B) Brahma Vivaha
(C)  Arsh Vivaha (D) Prajapatya Vivaha
24 A/ X11-5030-29/40) Page 18/ 24

by:BSEBResult.In



| 325 |
85. J9 ST F T Fg A ¥ N oA F we gedl & Fraf wf @ 2
(&) e (B) wmr
(C) e D RIGE L
The system which regulates the mutual relations of kins is called
(A)  Kinship (B) Jajmani
(C) Zamindan (D) Mahalwan
86. WRAA §9TS B FATYe &1 o FR0 41 R 2
(A)  TElEw (B) WIIRAH-HIEHaH I
€ v ufw (D) FmyfaA
What is the main causc of overpopulation in Indian society ?
(A) Environment (B)  Socio-cultural factors
(C) Fecundity (D) Modernity
g7. ‘drdfl’ wmaerd Y frg Aot & st 2 2 '
(A} Ui ,LEH/ feda=s
€ T (D) wqEH
‘Mausi' ( mother's sister ) comes under‘which category of kinship ?
(A) Primary (B) " -Secondary
(C) Tertiary (D) Quaternary
8. W wrdra wur fead qo & fnfom o 2
(a) W= _B) W
€ e & 3
Ancient Indian society was divided into how many Varnas'?
(A) Three (B) Four
(C) Five (D)  Two
gg g # ¥ w4 fyare 1 gefomm R 2
A)  ahefie sl (B) I sEE
) = (D) wmwfe wwEst § 3fg
Which among the following is an evil effect of casteism ?
(A) Industrial competition (B) Jajmani system
(C) Women education (D) Increase in social problems
90, v T A U EA & T FT A 2
) Tifaw e (B) wrFfaE fra
(c) faarg B T
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What was the reason for colonial rule in India ?

(A)  Political instability (B)  Cultural differences
(C) Casteism (D) Regional tension
9], fadaslaftadid>
(A)  Tegd (B) IS
(€) T Pr
Which among the following ignot a caste ?
(A) Rajput (B) Yadav
(C) Brahmin (D) Shudra
92. wEHfaww Ht ar@uren e & 2
(A) A e (B) .. e
(C) &gm (D) w.#. @
Who propounded the concept of Sankritization ?
(A) Yogendra Singh (B) M. N. Srinivas
(C) Hetukar Jha (D) 8. C. Dube
03. fi= i ¥ | gl wwen 78 2
(A) TN (B) ~ \ WETER
() a=Rl /ua1 I ECAE]
Which among the followingis not a social problem ?
(A)  Child labour (B) Corruption
(C) Trafficking (D)  Modernization
94. fr= @ fegia e ) sraumon § 2
(A) TR B) frwz
(C) SHEA (D) Wi
Who among the following has given the concept of folkways ?
(A} Sumner (B) Bierstedt
(C) Johnson (D) Marx
95. T WNNEAdT AHaal & fog wau & ?
A wEE - (B) 3mEET
(C) faarmm % 7€ T
Is communalism a danger to humanity ?
(A) Agree (B] Disagree
(C} Controversial (D) Cannot say
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96. ﬁﬂﬁﬂﬁ:{wmmq—ﬁg?
) T # e (B) e St
(C) hrem I (D) e
Which among the following is not a cause of corruption ?
(A) Criminalization of politics
(B) Luxurious life
(C} Black marketing
(D) Laziness
‘97,  wrwtE Shaa # werem e g g @ gafia 2 2
Ay T Afew v ® (B) Tt @
(C) ¥R (D) =T A
Corruption in public life is related with which condition ?
(A) Moral degradation (B) Poverty
(C) Alcoholism (D) Unemployment
98. fm i ¥ N FAafa TE 8 ?
(A) HUE By HeT
(C) M Dy s
Which among the followingis not a tribe ?
(A) Santhal (B) Munda
(C) Naga {D) Ravidas
99. fww =, qmenfr gl § A aftad # amies gied wE
Ay PeEUTE (B) T FIR
(C) T WH. SEd D) % 3fmm
Who said, “Change in social relationship is social change” ?
(A}  Maclver and Page (B) Auguste Comte
(C) H.M. Johnson (D) K. Davis
100. ﬁmﬁﬁaﬁqmﬁﬁw&aﬂﬂmﬁm#ﬁ% ?
(a) o (B) WTd
€ FRFE S
Which among the following is not a form of social change ?
(A) Development (B) Progress
(C) Evolution (D) Unemployment
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g TG WA / Short Answer Type Questions
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m#w:#soagswﬁzr?:ﬁﬁ?;swﬁdrm%fm#fﬁw
2 3 fraffia #

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.
Each question carmes 2 marks : :

l.

AT & GIRUTRE W WHT T |

Throw light on evil effect of communalism.

wrE & 6 @ sreraeTE guedl % T fod)

I15x2=30

15 x 2530

2

Write the names of any two minority communities of India.

11 gl I FHfa | I I |

Throw light on the nature of child labour.

- yad fiee | 2 2

Whatis E. D. ?

% ST B 3T 97 9HEd § P

What do you mean by economic census ?

wfts e #0182

What is Bhakti movement ?

firgre % srgee e v F 2 2

How many scheduled castes are there in Bihar ?
TgH % I IO T TR e

Throw light on the three causes of AIDS,

i
9, UM Ud TR F €9 FW WY R

Explain the distinction between village and city.

10, far & mofiy & @ owEl W YR 39

11.

12.

13.

14.

Highlight the two impacts of Prohibition in Bihar.

T % A9 FO W TH S

Throw light on three causes of Alcoholism.
e WY #& R ?

What is cyber crime ?
Jrvert saaen S qRid ®i

Define kinship system.
ATger At fe #@n R 2

What is Avunculate kinship usage ?
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26.

27,

& . (325
IE | T % @) w F) w5 2
Explain lhtf two factors of urbanization in India.

IR F1e F afgenai H fe Ry ® G w5 g 2
Write three causes of lower status of women in ancient time.

fom & 3o 7w £ 5 2
What do you mean by Gender ?

afgen wofieeor ¥ oy ¥ wweR 0 2
What do you mean by women empowerment ?

UHa G # 3 fadaad w5 vl &1 2
Describe two features of national integration.

YRR a9 & wewd v & @ wee ) = = 2

Discuss two importances of Brahmacharya Ashram in Indian
society. bsebresult.in

FHTSHHIO 741 8 ? 5
What is socialization ? ‘

AT F=roT R P 5
What is caste census ?

gfeem ayera & fre o & faame e # 2 3
How many types of‘marriage are there in Muslim community ?
safeat § aggedl faam® & @3 e w5 e 1) 5.
Describe three causes of polygamy among tribes.

ot 1 e @1 afonfi &) 5
Define the process of westernization.

wepfm $ @7 e & R w 5
Describe three characteristics of Sanskritization.

=4 e gen | 39 T anwd € ? 2
What do you mean by voluntary organization ?

sfa o aot & S e A )
Distinguish between Caste and Varna.

f forame @ M3 & wEa H T3 Hi| 5
Describe the importance of Gotra in Hindu marriage.

frapTe T qaTE T W T H 5

Disﬂ‘hg‘uiﬁh between Nikah and Mutah.
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3 Fwéra W Long Answer Type Questions
WV W 31§ 38 7 3w wvw ¥ 1 st 4w & 39 F 1 wRi &

5 3% fifia ¢ 4x5=320
Question Nos. 31 to 38 are Long Answer Type Questions. Answer any
4 questions. Each question carries 5 marks 4x5=20
31. T whE ) g st € fae ) | 5
Discuss the main characteristics of National Integration.
)".2./ f& foame & & @ sy whad w1 ghem & 5
Examine the modern changes occurring in Hindu marriages.
33. fm aw oftem foam § s =+ 5
Distinguish between Hindu and Muslim marriage.
y/ e % T e 6 Rdwn ) 5
Discuss the social significance of kinship:
35. Al % IR HEH §) =T Hy 5
Explain the factors responsible for urbanization.
36. IR %1 ord vE fevaratt @ ol ) 5
Describe the meaning and characteristics of communalism.
37, vEgeimm 71§ 2 e favmaan # ol i 5
What is globalization ? Describe its characteristics.
38 T 19 W & ey ford| 5
Write an essay on Panchayati Raj.
faere §idaA wafda @i araerd,
ST TGA, U8 UF, ,uEfde
sTfsIfts sreae B safe aad
Ugs UTat & f3e...
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